5 4= E<F 2 mfésﬁm% 9
iz . s | = | =% | g | IMP kA % | BA
B %ﬁ m g | s | Tes 1&:4\ IMP IMP | IMP | IMP | m#| B~ | A4 |(MP)
IMP IMP | IMP | ¢ | Fpe | #0 | fle |20 MP MP it 2,
1 BT 40 1 91 | O 41 41 11.00 | 41 |273.5 |52.6%| 22
1 Bkl 301 42 | @) Jdn]el Jdaale3 1051 |65 |164.0 [42.1%] 69
1 ez 40 1 70 | Ao ] 39 [ 60 JA.0)] 59 10.64 | 58 §230.0 |44.2%| 63
1 =GR 30 1 37 | @83 J@e) |l 64 L5 66 1045 | 71 1176.5 [45.3%] 61
1 Ho 30 1 61 | @80 ) (19 ] 56 10.6)] 56 1076 [ 56 |173.5 |44.5%]| 62
1 B 30 1 59 | 8 1 @3] 57 18] 57 1072 [ 57 1193.5 [49.6%| 44
2 USRS 40 1 67 | @) | a5 [ 53 104] 54 1082 | 55 1223.0 |142.9%]| 68
2 Befi =2 40 |1 82 | 5D 125 [19 106 | 18 |1.44 | 17 |284.0 |54.6%] 6
2 B@EU 40 | 82 | @8 | 34 [ 13 109 |12 J1.71 | 4 |288.0|554%| 5
2 B 40 1 90 | 56) | 34 [ 13 109 |12 J1.61 | 7 1269.0|51.7%| 34
2 L5 Ml 40 1 8 | 7 110 [ 28 103 |28 |1.13 | 28 ]261.0 |50.2%] 38
3 F 301 67 1| 6 ] 6 133 102 [31 |1.10 [ 31 ]203.5[52.2%] 27
3 FEE S 301 67 1| 6 ] 6 133 102 [31 |1.10 [ 31 ]203.5[52.2%] 27
3 B 301 86 | 5O 135 111 12 | 4 1169 [ 5 1204.0 |52.3%]| 25
3 SR 301 86 | 5O 135 111 12 | 4 1169 [ 5 1204.0 |52.3%]| 25
3 EEE 40 1104 | @D 1 37 [ 9 109 | 8 |1.55] 11 |244.0 |46.9%| 55
3 SR E 40 1104 | @D 1 37 [ 9 109 | 8 |1.55] 11 |244.0 |46.9%]| 55
4 ek e L 30 1 66 | 55 )11 126 104 [ 26 1120 | 26 1206.5 [52.9%] 17
4 T2 50 1105 | (2D ) d6) | 54 J0.3)] 51 10.87 [ 51 ]313.0 |48.2%] 52
4 TR 50 1105 | (2D ) d6) | 54 J0.3)] 51 10.87 [ 51 ]313.0 |48.2%] 52
4 H (E R 30 1 43 1 06 1 53169 .8 | 71 1045 [ 70 ]186.0 |47.7%]| 54
4 Extiilin 40 1 59 | O3 | 34 [ 58 109] 58 10.63 | 59 |253.5]48.8%]| 50
5 SEREVR 50 1109 | o] 7 129 0.1 |36 |1.07 35 1329.0 |50.6%]| 35
5 2K 50 1109 | o] 7 129 101 |36 |1.07 |35 1329.0 |50.6%]| 35
5 T 50 1 8 | ashl @y | 71 Jasy] el 1057 1 60 1299.5146.1%] 59
5 FPEEE S0 1 8 | ashl @y | 71 Jasy] el 1057 1 60 1299.5146.1%] 59
6 g 40 1 89 | 56) 133 [15 108 |16 |1.59 | 8 |284.0|54.6%| 6
6 e FIEHE 40 1103 | O ] 6 [33 102 ]33 1.06 ] 38 1260.0]50.0%] 39
6 HIE 301 98 | o) )42 |5 14 | 3 175 3 ]212.0 |54.4%] 10
6 Dt 30 1 71 1 @83 L an ] 52 Jo4] 55 1086 | 53 1193.0 [49.5%] 48
6 4T 30 1 64 | 60) ] 4 138 |01 |38 |1.07 |37 |218.0 [55.9%| 4
6 ZEph 301 3 1 e lan]49 o] 53 1083 | 54 1197.0 [50.5%] 37
7 G lEs 10 115 | @) | d2 (1.2) 0.56 47.5 136.5%
7 Alan SIA | 50 | 117 | ©0) | 27 [ 16 105 | 23 11.30 | 23 |353.5 |54.4%| 9
7 QSunny LAM| 30 | 58 | 59 | (D) [ 44 1 ©.0)] 45 1098 | 45 ]202.5 |51.9%]| 31
7 ladihike RYR] 50 | 100 | (10D ] (D) | 44 1 0.0)] 44 10.99 | 44 1322.0 |49.5%]| 47
7 I DianaSUN| 60 | 144 [ (105 ] 39 [ 8 107 |17 |1.37 ] 20 |425.5 |54.6%| 8




5 4= E<F 2 m@ﬁm% 9
iz . s | = | =% | g | IMP kA % | BA
5 # R m g | wes | Tes zyon| v | e | e | e | B~ | A4S (VP
IMP IMP | IMP | @2 | Fpe | ¢ | Fdc | 25| MP MP it 2,
8 FeE0 30 | 43 93) 1 S0) 1 67 1. D] 69 1046 [ 66 1169.0 [43.3%| 66
8 LG 40 1 91 (68) 123 120 106 |19 J1.34 [ 21 ]258.5 [49.7%] 42
8 TR 40 1 91 68) 123 120 106 119 J1.34 [ 21 ]258.5 [49.7%] 42
8 Pt lE 30 | 67 67 41 41 11.00 | 41 |182.0 |46.7%| 57
8 AL 30 | 67 67 41 41 11.00 | 41 |182.0 |46.7%| 57
8 s 30 | 43 (93) 1 S0) 1 67 1. D] 69 1046 [ 66 1169.0 [43.3%| 66
9 NS 50 1129 | &7 | 42 5 108 | 14 1148 | 13 1343.0 152.8%] 20
9 Fh X AH 50 1129 | &7 | 42 5 108 | 14 1148 | 13 1343.0 152.8%] 20
9 PR T 50 | 154 [ e | 87 1 1.7 1 1230 [ 1 1393.0 [60.5%] 1
9 R 50 ) 154 | 1) | 87 1 1.7 1 1230 [ 1 1393.0 [60.5%] 1
10 Bk 5L 5] 40 1 119 [ (75 | 44 3 1.1 6 1159 | 9 1275.5 [53.0%| 15
10 fer e 30 | 41 (89) 1“8 165 1.6 67 1046 [ 68 ]154.0 [39.5%] 70
10 el 30 | 41 (89) 1“8 165 1.6 67 1046 [ 68 1154.0 [39.5%] 70
10 Bt et 30 | 62 (55 | 7 29 102 129 |1.13 | 29 ]212.0 [54.4%| 10
10 s 5 30 | 62 (55 | 7 29 102 129 |1.13 | 29 ]212.0 [54.4%| 10
10 SHEE 40 1 119 [ (75 | 44 3 1.1 6 1159 | 9 1275.5 [53.0%| 15
11 SIBEE 50 1107 | 103) | 4 38 101 39 |1.04 | 39 |344.0 |52.9%| 18
11 ERAY 30 | 73 GO 116 124 105 124 1128 [ 25 1219.0 [56.2%] 3
11 MOoUE 50 1107 | 103) | 4 38 101 39 |1.04 | 39 |344.0 |52.9%| 18
11 PR ER S 40 179 (89) 1 d0) ] 48 10.3)] 50 10.89 [ 50 J251.0 [48.3%] 51
11 ZEEBE 30 | 38 (72) 1 34 158 1d.D] 60 1053 [ 62 1192.0 [49.2%( 49
12 B 20 | 42 (68) | (26) (1.3) 0.62 102.5 139.4%
12 P& ST 20 | 42 (68) | (26) (1.3) 0.62 102.5 139.4%
12 ek e 30 | 62 (45 1 17 122 106 |21 138 [ 18 1203.0 [52.1%] 29
12 ZEaE 30 | 62 (45 1 17 122 106 |21 138 [ 18 1203.0 [52.1%] 29
12 PR EESE 50 1102 [ A1) dD 49 102)] 48 1090 [ 48 ]322.5 [49.6%| 44
12 g {& 50 1102 [ A1) dD 49 102)] 48 1090 [ 48 ]322.5 [49.6%| 44
13 AR 40 1 80 (83) 1 3) 146 1O.1D] 46 1096 [ 46 1269.5 [51.8%] 32
13 FoOE 40 1 80 (83) 1 3) 146 1O.1D] 46 1096 [ 46 1269.5 [51.8%] 32
13 bR A B 20 | 13 (71 | (58) 2.9 0.18 87.0 133.5%
13 EFY 30 | 32 (95 1 63) 170 12D 72 1034 [ 72 1152.5 [39.1%] 72
13 M5 40 1 91 @0) § 11 126 103 127 J1.14 [ 27 1259.5 [49.9%] 40
13 R 30 1 72 (56) 1 16 124 105 124 1129 [ 24 1194.0 [49.7%] 41
14 LR, 30 | 44 @5 @b pe6l 1d4] 63 1052 [ 63 J170.5 143.7%| 64
14 Sk 30 | 44 @5 @b pel 1d4] 63 1052 63 J170.5 143.7%| 64
14 PRT-HiE 40 | 85 (79 1 6 33 102 [ 33 |1.08 | 33 |272.5 |152.4%| 23
14 ZR0H 40 | 85 (79 1 6 33 102 [ 33 |1.08 | 33 |272.5 152.4%| 23
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Ff 55 ER g | zon |z |zwa| e | MP | IMP | IMP | s | Aa | A2 | QuP)
P | e | e fe e | ppe e a2 e | oW |2
14 FEIN = 30 83 (56) | 27 16 109 [ 10 J1.48 [ 15 §209.5 |53.7%]| 13
14 G (e 30 83 (56) | 27 16 109 [ 10 J1.48 [ 15 §209.5 |53.7%]| 13




